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HE S23244l) 8,297,000& x 14! 8,297
02 3324l 13,466 13,466 0
O32223 & HMA SHAHA
13,466,000 3 * 14| 13,466
202 O44| 20,517 26,993 A6,476
01 =ZLHOdH] 7,077 15,473 A8,3%6
SN, 2,277, 000214} 2,217
OMEEHIIZ BHEI| NES= 2L
20,0003 *1H+10L 123 2,400
ONEs3S(HEZ2S, HANX, S01=)+=HA
ZHLHOIH] 20,0002 *1Z 102123 2,400
02 X0l 13,440 11,520 1,920
OHY =23 AIEE XN& &=
160,000& *3F 122 5,760
OHDIZ2 285 NE =
160,000& x3H x 122 5,760
O181238 MEAMH XNE &=
160,000& x 1= 123 1,920
203 AR F&l| 3,600 4,800 A1,200
M EN2HHRFAY| 3,600 4,800 A1,200
OXHA =2 10H(19Y) 300,000& 12& 3,600




